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% X BEZES, MT X EEHNAINTE ¢ 5y, RE—ENEH
BIME—BSEE d(z, y), MEBRTIR=ZFLE:

((EEM)d(z,y) >0, B d(z,y) =0, HEH z=y;
(2)(ZFFRME) d(z, y) = d(y, )

BN =ZAAER) MFREER 2.y, 2€ X, 18F d(z,y) < d(z,2)+ d(2 ).
MFR d(z,y) A2 5 y B9 BBE, HIR X ZM d AEERW BBEEZE, id
£ (X, d). B% HEEBEHEXHWBEAT. (X d ATERME X &
RITTEMRA X Fl =
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(1) glxy)=g0x);

(2) glx+y.z)=g(x.z)+a(y.2);

(@ glkey)=kglxy);

(4) g(xx)>=0, 1M Agxx)=0 A 4x=0 iz
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(1) PIAEAR LB R R B A2 (a1 3.

(2) EfrHPRELAREEREEE (FRRREE) HHET.

(3) 4% n 4L 01 ZRESEM n fLtR, MIXAAREE R SIGTEEE.

(4) 7£ sklearn.linear.model.SGDClassifier H1, B&{ /1_ratio JRTE T 584
MR ETIT P EESRIME. & [ _ratio=1 &, (EA 11 BEE (BN
BEES); & U_ratio=0 B, {EA 12 B65S (AIERJLEBEEES), SNI%RER
_ratio: (1 — l1_ratio) BILL BB & A SRS B JLE/SIEE.
11 BEESFA 12 BEES A HIXT R A A EI V353K lasso FA ridge.
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lasso ZEME I TR B AR R B P (E TR 11 penalty, NTTE—LELR M4
B RS B T ELEFEEE LEARE

ridge  F 12 penalty, BRI TH//N—L, BETELHE, EHLE
e L EEE.

contours of RSS as

it move awa y from
AW B

p \\ : / B
RSS (Least Square) — |
coefMicients

B,

The lasso coefficlents

B — e ridge regression

coefficients

£ B, A B,

The penalty term (budget)
shown as a constraint region
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AN EIEZ [E/H] Levenshtein FEE 2 — N RIAEN AS—1RIAME
RBEFAmE (BN, MEREER) WE/NEE, iR A%&RIERS.

max(i, j) if min(z,j) = 0,
. (id) = levap(i—1,5) +1
€Vab(2,] min { levgp(i,j—1)+1 otherwise.
levop (i — 1,5 — 1) + (g,

XE— dp 318 LIEFHAFHEZ—RKEH 0, min FRI=15 5]
iRz F MR a(flN b), BN a(MiBR b), 83X (a H b)(—HMAIERK).
# T DNA [EEEME.
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